Haryana JBT Teacher Exam Question Paper 28 Sept. 2024
1,

When was the first election of the

Haryana Legislative Assembly held ?
(A) 1962 (B) 1967

(C) 1972 (D) 1977

(E) Not attempted

2. The first archacological excavation

in Haryana was done by which
Archaecologist ?

(A) Cunningham

(B) D. D. Snooper {ig
(C) H. L. Srivastava ==

(D) None of the above
(E£) Not attempted

India successfully test-fires new
generation anti-radiation missile
recently, what is the name of that
missile ?

(A) Agni-1

(C) Brahmos

(E) Not attempted

(B) Prithvi-1
(D) Rudram-1

Find the number which will come at
the place of question mark (?) in the
given series.

11, 12. 13,15, 15, 18, 1%, ?
(A) 20 (B) 19
(C) 18 (D) 21
(E) Not attempted

S. This army general who hailed from
Haryana served as the 23" Chief

of Army Staff of the Indian Army in
between 2007-10

(A) Dalbir Singh Suhag

(B) V. K. Singh

(C) Deepak Kapoor

(D) Naik Hari Singh

() Not attempted
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6. Which of the following is the most
important aspect of teaching of
mathematics at primary leve] ?

(A) Promoting and preparing for
technology.

(B) Making mathematics part of
children’s life experiences.

(C) Developing rigour in calculations.

(D) Preparing for higher education
and employment,

() Not attempted

7. Urdu translation of Kalidas’ famous
composition, Meghaduta was done by
(A) Pratap Singh Rana Ginnauri
(B) Shiv Prasad Javed
(C) Balbir Singh Rathi
(D) Jwala Prasad Shabhi
(E) Not attempted

8. Leaves have tiny pores called
through which they exchange gascs.

(A) Stomata

(B) Chloroplasts
(C) Guard cells
(D) Xylem

(E) Not attempted

9. What is the sum of digit of the least

number, which when divided by
15, 54, 16 and 12 leaves the same
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3.
A
____-—-—“—/__7_ T — -

Download from www.MsEducationTv.com

(¥ scanned with OKEN Scanner



PT - 24

10. Jaya Sambhita is also known as | 10. 41 Giadl l % F9H A
T 2 |
(A) Ramayana yrirr1 (A) TN
5
(B) Bhagawatgeetha ; "f:{l (B) el
TTRAE
(C) Mahabharata — (C) HamMrd
(D) Panchathantra (D) g4y
(E) Not attempted (E) ST
' § “u F|§$-~ 3#!
11. In a 75 students class, 44% are boys 11. 75 Wﬁ h Eﬁg q;: ‘;ﬁ; - 3
and the rest are girls. The average oI a-'{%‘!" 2 |_f gl % Al _ 6 ~
marks of boys are 66 and of the girls wielhal & 72 2 | el = AHA 3+ 3
are 72. Find the average of the class. l iU
(A) 68.82 (B) 69.36 (A) 68.82 -(B) 69.36
(C) 70.24 (D) 68.56 (C) 70.24 (D) 68.56
(E) Not attempted (E) DI G
12. Haryana was the first State in the ' 12. &mon 3@1 &1 98 U % 5 100%
country to achieve 100% rural ' i ]
electrification in ﬁ@?ﬁ-‘ﬂﬂl GUEERER] %
(A) 1947 (B) 1955 (A) 1947 (B) 1955
(C) 1970 (D) 2000 -(C) 1970 (D) 2000
(E) Not attempted | (E) R s E2pttare
|
13. The Western Haryana Plain is 13. yfyasdt gfemon 2 fer - :
characterized by the presence of . " <1 fagrgan 2
(A) Dense forests (A) T S
(B) Numerous sand dunes ~(B) EFQ W& e
(C) Large lakes (C) =21 ==t
(D) High plateaus (D) 39 9an
(E) Not attempted (E) 3tranfira
14. Find the nr:rpl'tit:ar:LI frnn: thi: l‘n{llic:wing. ) | 14. fr=fefas i A a® frae I A
hich i ted to the third term in the ) . . -
wiiich IS rejalc O the Lhir mq‘aﬂ:ﬂ'ﬁ wﬁ_‘ﬂ%mgﬁﬁ

similar way as the first term is related . el
= TEET 93 QHL Yg A wHaifg R |

the s nd term.
to the seco 80:9::120:7?

80:9::120:7 )
rzql 0
(A) 10 (B) 11 ShEz | N | -(B) 11
(€) 12 (D) 13 (C) 12 (D) 13
(E) Not attempted (E) 3T
A 4-
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15. Which among the following districts 15. @ 1=[F=~'!I H‘HT‘E-FI ﬁ?FITI :rrfm AR

arc being developed by the Haryana
Fishery Resource Development
Authority ?

(A) Gurgaon, Hisar, Rohtak

(B) Panipat, Karnal, Faridabad
(C) Charkhi Dadri, Jind, Jhajjar
(D) Panchkula, Ambala, Kurukshetra |
(E) Not attempted

16. In 7™ Century A.D., this Chinese
pilgrim visited Haryana.
(A) Hsi-yti Chi
(C) Fa-hsien
(E) Not attempted

(B) Hiuen Tsang
(D) Markopolo

17. Which of the following statements is
not correct with regard to nature of
mathematics ?

(A) Mathematics uses special
vocabulary to communicate ideas
precisely.

(B) Argumentation skill is important
in construction of mathematical
knowledge.

(C) Mathematical concepts are |
hierarchical in nature.

(D) Primary level mathematics 1s
concrete and does not require
abstraction.

(E) Not attempted

18. Who among the following writers of
Haryana wrote the famous drama
‘Court Martial' ?

(A) Swadesh Deepak

(B) Uttamchand Sharad #‘fi -
(C) Jwala Prasad Shahi f"'ri{l |
(D) None of the above
(E) Not attempted |
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19,

If P means x, R means +, T means +
and S means —, then 18T3P9S8RG6 is

A) 13 (B) 46
€) 52 D) %4 #Jrf
(2] (5]

(E) Not attempted

20. What is the main characteristic of the

physiography in Sonipat district ?

(A) Predominantly sandy with dunes

(B) Mountainous with occasional
lakes

(C) Divided into Khadar, upland
plain and sandy region

(D) Characterized by deep valleys

(E) Not attempted

Learning disabilities in reading 1s
(A) Dysgraphia (B) Dysphasia
(C) Dyslexia (D) Dyscalculia
(E) Not attempted

21.

If5&:2b=3:2m‘1d3b:?c=5:7,
then the valucofa:b:cis equal to
which of the following ?

(A) 3:5:3 B) 5:7:3

(C) 7:5:3 (D} S:3:7

(E) Not attempted

22.

Following are four questions posed by
a mathematics teacher. Which of the
following 1s an open-ended questions ?
(A) If sum of two numbers is 17, then
what are the numbers ?

If the age of Anil is 7 years and
his father’s age is 5 times more
than that of Anil’s age. What will

be the age of father ?
If sum of two numbers is 15 and

23.

(B)

(C)

other number ?

What should be added to 17
get 23 ?

(E) Not attempted

(D)
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24. People who are related through our
mother are called

(A) Paternal relations
(B) Collateral relations

(C) Affinal relations areg
(D) Maternal relations é%

(E) Not attempted

25. Which of the following is a desirable
teaching-learning practice in the
context of Mathematics ?

(A) Students should be told to follow
the prescribed steps of solving

problems.
(B) Open ended questions should be
avoided to prevent confusion.

(C) Intuitive understanding of
concepts should be encouraged.

(D) Open book tests should be

avoided.
(E) Not attempted

26. Choose the wrong number.
4.2.3.5,79 26.25, 118.125

(A) 118.125 (B) 26.25
(C) 7.5 (D) 3.5
(E) Not attempted

27. Problems with handwriting, spelling,

organizing ideas 18
(A) Dyspraxia
(B) Dysgraphia
(C) Auditory pro
(D) Dyscalculia
(E) Not attempted

cessing disorder

28. Complete the following series.

7,26, 63, 124, 215, 342, 7
(A) 481 B) 511
(C) 391 (D) 421
(E) Not attempted
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29. 1fZ =52 and ACT = 48, then BAT will |
be equal to '
(A) 39 (B) 46
C) 44 D) 41 .«I% |
(E) Not attempted o |
30. Which of the following statements is

not true about the five steps of the
Mathematization ?
(A) ldentifying the real problem in
the context.
(B) Memorizing an algorithm.
(C) Solving meaningful mathematical |
problems.

(D) Making sense of mathematical |
solutions in real life.
(E) Not attempted

31. The agents of socialization are
(A) School and Peers
(B) Family and school

(C) Family, Peers, school and mass
media I
(D) School and mass media |

(E) Not attempted

32. Which of the following is ﬂ'ﬂﬂl‘ruw
aim of teaching rnalhemntm::-. ? i
(A) To make students proficient in
handling numbers and number
operations. |

(B) To develop sl udl:l_ll::i*
gcncrﬂlizuliun thllllL‘ﬁ.l

(C) To encourage systemalic
reasoning among Sll:ldt"l.lFE.

(D) To develop students nhl_hly to
argue the truth and falsity ol
statements.

(E) Not attempted

PT - 24

29. Ffe Z = 52 3 ACT = 48, @ BAT =

U AT 7
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qag T4 ] |

(E) stanfaa

31. HUTSHHN & F0H 8 ~°°
(A) Tererem 37t ggwd]
(B) gf@an 3t faemes
-(C) 9iER, Hawd, fauem 31t saaen
ey
(D) Taenem 3t Sag=r gieag
(E) srwaifEa

32. [r=fafea d @ wm-mn nforg gart =
Hehrol 309a R 7
(A) O & WEsl 3R Gy @9 @

YT W e g7 |

(=i =) (13) W 6 =R s

o] 3 farenfaa s
(C) Ol W syafem o = deaifea 61 |

D) ®UHAl ) T i ey w ab

w6 Wl ) amar fawhiia w0 |
(B) 3wanfaa
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33. To conserve the river Ganga, which

Program has been initiated ?
(A) Clean Ganga Mission

(B) Namami Ganga Programme

o
=]

e

(C) Ganga Action Plan

n)

(D) Ganga Rejuvenation Project
(E) Not attempted

34. The main aim of comprehensive
evaluation is
(A) the spiritual development of the
child

(B) the emotional development of the |

child
(C) all round development of pupils
(D) intellectual development of the

child
(E) Not attempted

35. What is the significance of
Environmental studies, as an
integrated environmental science 7

(A) It provides comprehensi

holistic understanding of the

environment and its issuecs

(B) Being able to participate in all
activitics

(C) It helps in scoring
well as in practiuals.

(D) It helps to enjoy learning of
science more than that of
language

(E) Not attempted
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36.

Which of the following is most

appropriate strategy for teaching
students to solve mathematical
problems ?

(A) Teacher should begin by
explaining the steps required for
obtaining the solutions of the
problems.

(B) Guess and verify approach
should be strictly discouraged.
(C) Students should be encouraged
to view a problem from many
perspectives.
(D) The list of formulae required for

solving the given set of problems
should be provided in the
beginning.

(E) Not attempted

A watch reads 4 : 30. If the minute
hand points to east in which
direction does the hour hand point ?

(A) North-East  (B) South-East
(C) North-West (D) North
(E) Not attempted

37.

The teaching is said to be effective

when the teacher gives

38.

(A) more explanation

(B) more leisure time

. s t' n =
(C) individual attentio ! JEI
Yt

(D) more freedom

(E) Not attempted

pair similar (o 5:35.
B) 7:77
(D) 11:75

39. Select the
(A) 9 45
(C) 3:24
(E) Not attempted
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Which of the following statements is

not correct regarding differently abled

children of dyslexia in mathematics

learning in an inclusive classroom ?

(A) Dyslexia impacts only language
learning not mathematics
learning.

(B) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(C) Visual patterns in mathematics
help in overcoming difficulties
experienced by dyslexic children.

(D) None of the above

(E) Not attempted

National Policy on Education 1986
has stressed the use of continuous
and comprehensive evaluation
especially in

(A) Nursery education

(B) Primary education

(C) Primary and secondary education
(D) Secondary education

(E) Not attempted

Which of the following crops

originated in South America ?

El',';.l'!l
. /157
(A) Rice, wheat and maize [=) 7%
(B) Barley, rye and oats

(C) Tomato, potato and green chilli

(D) Cotton, jute and hemp

(E) Not attempted
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43. . 1s considered as the major
milestone in cognitive development
because it marks the beginning of
logical or operational thought,

(A) Sensorimotor stage
; _f"‘}E (B) Pre-operational stage
4 ?‘ =1 (C) Concrete operational stage

(D) Formal operational stage
(E) Not attempted

44. The fundamental feature of school life is |

(A) Providing good infrastructure
(B) Providing quality teachers
(C) Promoting pupils’ well-being and
their emotional and physical
safety
(D) None of thesc
(E) Not attempted

45. Ais B’s brother, C is D’s father, E is
B’s mother, A and D are brothers.
How is E related to C ?

(A) Sister
(C) Niece

(E) Not attempted

(B) Sister in law
(D) Wife

Complete the following analogy.
Length : Metre : : Angle : ?

(A) Newton (B) Watt

(C) Radians (D) Candela
(E) Not attempted

47. Pedagogy is concerned with

(A) Aims
D

(B) Content # 12

(C) Evaluation 2,

(D) Teaching methods
(E) Not attempted
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48. The micro-organisms which convert
the dead plants and animals to
humus are known as

(A) Decomposcers
(B) Producers
(C) Consumers
(D) Scavengers A
(E) Not attempted

In a class, 20 opted for Physics, 17
for Maths, 5 for both and 10 for other
subjects. The number of students In
the class is

(A) 35

(C) 52

(E) Not attempted

49.

(B) 42
(D) 60

50. Green leaves make their food by the

process of

(A) Photosynthesis
(B) Respiration

(C) Transpiration
(D) Germination

(E) Not attempted

Which district of Haryana has a
topography characterized by long and
narrow pediments and undulations
caused by windblown sands 7

(A) Mewat (3) Gurgaon

(C) Panchkula (D) Karnal

(E) Not attempted

S1.

Socialization is the process ol
member of the

52.
learning to become @
(A) School
(B) Society
(C) Committee
(D) None of the above
(E) Not attempted

PT - 24

48. qn@iiaﬂ:-wmﬂu A1 7R T W g e 1
Sl = &+ E0 U A F R
_(A) HAUEEH

49.
< 3 2 faqa @1 109 3= [ #
e | e 3 faenfai & wen fE 5 pene
(A) 35 AB) 42
(C) 52 (D) 60
(E)
50. & ufeal 31 Wra fem gimat &
&l & 7
_(A) TERTITEHTEATT
(B) 794
(C) aATIeEsiH
(D) HFI
(E) 3t
51. m%ﬁ?ﬂﬁﬁéﬁﬁlﬁﬂ%ﬁﬁa“
A gt il o g & 3 T 0,7
T B arett Iar-9ed ik ?
~(A) HaTd (B) TS
(C) Tkt (D) T
() st
52, WWWHHW _ 1 ggg &4
feru i@ <l ufan 2 |
(A) ¥l
'%1,1“ () TS
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S3. Who is known as Hadi - e - Haryana ?
(A) Shah Gulam

(B) Shah Muhammad Ramzan
(C) Gulam Qadir

(D) None of the above

(E) Not attempted

o ."'IE
w’fr :
1%

3

S54. This festival in Faral village is -

celebrated on Somvati Amavasya
(A) Gugga Navami

(B) Phalgu tirth

(C) Baisakhi

(D) Lohri

(E) Not attempted

SS. Five people P, Q, R, S and T are sitting

around a circular table facing towards
centre. S does not sit besides R. R sits
between P and Q. T is on the second
place from the right side of P. Who sits
to the immediate left of T ?

(A) S (B) R

(C) P (D) Q '
(E) Not attempted -

Topra is a historical village located in |
which district of Haryana ? I
(A) Faridabad (B) Panipat

(C) Rohtak (D) Yamunanagar
(E) Not attempted

56.

A man travels 100 km distance at
60 km /h speed and next 150 km
distance at x km/h. If the average
speed of the man is 50 km/h in the
whole journey, whatis the value of x |
from the following ?.

(A) 45 (B) 44
) 43 (D) 42

57.

PT -24

53. BEI-U-a=m mqmngﬁammg 2

~(A) TMM& el
(B) I8 HeHe e

(C) T Hifel
(D) 3T 1 & HI3 A7
(£) 3ruaifad

54. B{d Tid 0 T8 RN Gadl AHEE F
AT A 2
(A) T i
B) %o fad
(C) =aTE
(D) HrEgl-
(E) sTvanfad

55. 4| =M@ P, Q, R, S 371 T g &1 37 4z
FTh IR UF & 90 AT 92 2 | S, R
FAH A d3a1 2 | R, P37 Q & 59
HAST R IT,PH 6 ILH TN AT
BITHIHIE I FH T2 7
~(A) S (B) R
(C) P (D) Q
(E) Fvamfaa

56. 29U &N % forg e o fm
ufaarfie nig 2 7
(A) HETE (B) 94
(C) TrEah AD) AT
(E) 3twarfaa

57. u® anedl 100 fft i 2 60 it/
&1 ifa |/ 99w R afw 150 fedft 1 T
x fofl /e 1 ife § o e 2 1 AR W

| a1 et 1 sivem 50 /A7

NS Praffiaa # & x o wm @ @ 7

' i’_:i.:::&_.(,q) 45 (B) 44
(C) 43 (D) 42
(E) 3T
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5g. Which of the following is not a type of

gender role ? et AR B 7

(A) Reproductive role (A) T iR -

(B Gender dynamics role (B) fem ’Th:g:;

(C) Productive role (C) Jcdresh .

(D) Community politics role (D) WT?;:' refifel i

(E) Not attempted (E) 31941 ‘

s 3 fpi 1 gEumn fEEE o

59. Which of the following is most | 59. @@= R a

suitable for teaching children, the | ﬁﬁﬁ*lf@ﬁ y ST

concept of fractions ? (A) W LR

(A) Cuisenaire rods (B) UAEH .

(B) Abacus C) ﬁﬂﬁﬁ'@q

(C) Geoboards = j:" =] .(D) A1 |e

(D) Number charts g ;L | i

(E) Not attempted | an

itor of 60. 3I. Hear 334 35 94l % 3_““'“;;” -

60. Dr. Sultan Anjum WaZEU P T | e o o 5 Hew % 1

N Trﬁ?gé l;:; I;ﬂgﬂme | -(A) mﬁﬂ-q-'sﬁ'm"ﬂp

i:;r?raanmir - ¢ - Haryana (B) SSAT@-T-gIAT

(B) Jajbat - € - Haryan® (C) A -T-ERETm

(C) Nagmat - € - Haryae (D) A -u-gfEm

(D) Nigarshat - e,_-; Harya (E) Syqfad

te

o) morere s of 61. freil T Ui fRufa @ avfF &l 2
61. Epilepsy describes @ con (A) H £ g‘a‘ﬂ?ﬂ

(A) hearing impairmer ) _(B) s wfgaes fafat

(B) abnormal brain activity © g ghea

(C) visual impairment challenges | (D) Hi@a i gefaan arel 7=

(D) children with learning | ) st “

(E) Not attempted 62. i eer@ i el & &1 FETEHATH]

wingis the light Battle |
DRDO and L&T to |
1 requirements

62. Whichofthe follo

1 qu &@ & fee DRPO MW L&T &1
tank developed DY

fmmmthﬁﬂﬁﬁ

meet the Indian Army HE-HI B 7

i stern Ladakh ? Gl (A) T72 M1 _(B) 34
in the Ea 3) Arjun 5 'l'q'l"' L8 | A

M TTZML T e L () faia (D) ST
(C) Vijayanta (D) Zori P

(E) Not ﬂttt::mplr:d
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03. The

Purpose of assessment of
le

arming is to measure, certify and

report the

(A) Level of administration
(BB) Level of teachers’ teaching
(C) Level of students’ learning

(D) None of the above ;Jl-.' -i
(E) Not attempted m>w.

64. X starts walking from his house
towards East. After walking 2 km,
he turns left and walks 6 km. From
there, he again turns left and walks
10 km distance. What is the distance
of X from his house ?
(A) 6 km (B) 8 km
(C) 14 km (D) 10 km
(E) Not attempted

63. HiE % AT H I
yrfore e si ford e 2 |
(A) 9T 1 F=T
(13) foregeri o srwATHE T
_(C) Bl & HiEa H1 =
(D) 39dad ° # &I A7
() 3rgiiae

64. X FT W A FI AW T IE FA A |
o it = % e, 97 4 q3A 2 HE
6 foft weren 2 | =7 |, 77 & 7 =
wEal & 3 10 Foeefi & gl @3 w0 2
X el 394 T H g Rt 2 7

(A) 6 T (B) 8 fers
(C) 14 fed AD) 10 fei
(E) 3ruafaa

65. Which district in Haryana is a major 65. RN &1 wHA-A1 fFe sfemEEs dr’_z'ﬁ'i
hub for the Automobile Industry ? 1 IHE $5 & 7
(A) Faridabad  (B) Panipat (A) HiiEETg (B) 9THITA
(C) Gurgaon (D) Karnal (C) TEME (D) T
(E) Not attempted (E) STOATTES
66. Choose the correct statement. 66. Hel HYUA ﬂﬁm |
(A) The shape of figure determines AA) 3uefa 1 e ffa Fuifa s g
the perimeter. () ufe @ snelcl 1 &% 591 8, T
(B) If two figures have same area, 1 ufifa soet & 2 |
their perimeters are equal, (] =] % “ .
ZIVE (O TeRfaal 1 uity a9E &,
(C) If two figures have same [_;j'}_:; (€) WA 3 - - ®
perimeter, their areas are equal. Lkl a2
(D) The units of perimeter and area (D) 9t 3l &wet i FHrEAl T
are same. aIdl 8 |
(E) Not attempted (E) uamEd
A -16-
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67.

68.

69.

70,

Lev VygotsKy's theory became known ge

(A) Socio-Psychological theory of
development

(B) Ph}-SiU*PS}'Chﬂlﬂgi(‘.‘H] ﬂl{‘l}ry of
development

(C) Socio-Cultural theory of
development

(D) Socio-Physical theory of
development

(E) Not attempted

7as
(=] 350

People who have been living in the
forests for at least 25 vears have a
right over the forest land and what is
grown on it. This statement is related
with which Act ?

(A) Right to Forest Act, 2007

(B) Indian Forest Act, 1927

(C) National Forest Act, 1988 |

(D) Indian Forest Amendment
Act, 2019
(E) Not attempted

What primary cultivation is found in
the flood plains of Panipat district ?

(A) Tea and spices
(B) Rice and sugarcanc

(C) Cotton and soybeans |

(D) Vegetables and fruits

(E) Not attempted
y two whole numbers

“The sum of an f
» This prnpt:rt}' 0 f

is a whole number.
whole numbers is referre
(A) Distributive property
(B) Closure property

(C) Commutative prﬂpﬂ'ﬂ}'

d 1o as

(D) Associative property
(E) Not attempted

Download from www.MsEducationTv.com

67. ©a armiehl #1 fuagm
ST ST 2

o

(A) fermmm a1 st - ot
1) Feremar w1 onhtfres -t fazi

_(c) faemm = mntim-areps e
(D) famrm = smnfas -t fazm,
(15) s

68. il @M W | G 25 7 F FA {77 72 2,

:F% W Eﬁ] ?thm Jﬁf ELI D -:iih';.; :H:'. T
iy sifamm 2 | 72w e wfais
o Hafud 2 7

(A) = FafET wiafEEE, 2007
(B) v == FfafEE, 1927

_(C) T & wfufras, 1988
(D) WA 75 FuiaE HiaEEE, 2019

_(B) =maet 3 =
(C) @y 3T HIATET,
(D) wfewai 3 Felx
() swafad
70. “fadi Wi E-I Tﬁ Filsln}f] 1 A Ush f{f:r[
sl Al 2 1 gl weEisl & 3| 1
el AIdl 2
OFCREVRELICRIY
o KR (1) welrac g
() fafasy qu
AD) arE=d 1l
() stwaifad

1 T-
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71. Moral development theory is given by | 71. Al T2
(A) Jean Piaget (B) Lev Vygotsky _(A) A form (B) i A
(C) Kohlberg (D) Pavlov (C) ‘ﬂ-TI'E.‘FlEl"'i (D) CICEIC]
(E) Not attempted (I%) ST
72. The theory of Pedagogy is broadly 72. g # fazm =1 w2 9 T
classified into categories. forert T EI"ﬂEFd fopar 71 2
(A) 4 (B) 3 AN 4 (B) 3
©) 2 D) 5 4T () 2 D) 5
T (E) A

(E) Not attempted

—-3. Rickets is caused by the deficiency of

which Vitamin ? (A) e A
(A) Vitamin A (B) o1 B12
(B) Vitamin B12
(C) Vitamin C (©) feeri C
(D) Vitamin D +(D) ferif D
(E) Not attempted (E) 3rwaTsd
74. The circulation of water between 74. WEETT 3T YW & 1" 9@ % Hded @l
ocean and land is known as the 941 ﬂ?ﬁf’i ? [
(A) Water management (A) SIcl SCBE
(B) Water cycle ‘ .(B) Sict =sb

T “k ]

ot
[
3

(C) Water recycle

(D) Water pollution | (D) Sfel JgqYI
(1) Fwafaa

75. The stage between 11 years to 15years | 75. | | a 3 1594 8 nfus & die ol 3R 2

above 18 -
(A) Sensory Motor stage (A) W4 hITTZI e <
(B) Pre-operational stage (I3) 'Ei-ﬂﬁﬁfm IaEey 1
(C) Concrete operational stage (C) 3" wfsrarensr @aven "

(D) Formal operational stage (D) 3ita=nfas HfaragTene AT /f

(E) Not attempted (E) syuenfad

AL

(E) Not attempted
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76.

77.

78.

79.

80,

]fTAIL iS Cﬂdcd as VCKN hn
' \ 1
PEACE coded ? Vs

(A) RGCEG (B) OFBDF
(E) Not attempted

The three parameters of adult
socialization is

(A) Childhood, marriage, parenthood
(B) Childhood, marriage, old age

(C) Marriage, parenthood, old age
(D) Childhood, parenthood, old age
(E) Not attempted

Pre-operational stage start from
(A) O — 2 yecars (B) 0 — S years
(C) 2 =7 years (D) 2 -9 years
(E) Not attempted

Complete the following analogy.

Horse : Mare : : Dog ¢ ?
(A) Paw (B) Bitch
(C) Kennel (D) Puppy

(E) Not attempted

rsonal relations between

the student

The interpc
the teacher and
(A) Keep students

actively particip
rn for stude

s involves

invulvud and

ating
T
(B) Show conce nts and

their problems

vate and inspire students 1O

(C) Moti

learn W"fﬂi}
(D) All of the above :E]ln‘ll[:j
(E) Not attempted

PT - 24

26. A TAIL I VCKN fermn =TT 2 Al
PEACE i fRm e ferman S 7

_(A) RGCEG (B) QFBDF
(C) RDZBD (D) QECEG
(E) sarea

(E) ZTiad
| 78, d-3riateEe F F = EFAT R
| (A)O—-Qiﬂi (B)O_a':_rff
-€) 2-7 (D) 2 -9
DRI

HiSl Eﬂ'sfl; %l ¢ ?
| (A) gl _(B) g?ﬁﬂﬂ
(C) (D) fueen
(E) 3r9arEd
a0, fire 3N Ol % dra qrEdis JEH A
unfiet 2
(A) BTl snifitel T@ 1T HiHd = A
W
(B) Ol i 391 AR feu foma
fer
() Gl 41 gy & feu SeEnE 3N
afid
(D) 3% Bl
() 3Twarad
A
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English Language

Evaluation in teaching English 82. No time to turn at Beauty's glance

language composes And watch her feet, how they can

(A) Classroom management or dance ?

classroo iSi ' : ' i
m decision making Figure of speech used in these line

B) Analysi ‘ |
(B) Analysing and interpreting , are

information for learners Y~7[E] (A) Personification
::i-':,;- F &
~(C) Both (A) and (B) | [E%[=] (B) Alliteration
(D) Neither (A) nor (B) (C) Metaphor
(E) Not attempted | (D) Simile

Direction (Q. No. 82 and 83) : Read the I () Not attempted

following poem and answer the questions l

_ ‘ 83. Meaning of the word woods in this
given below it.

context is
What is this life if, full of care, | (A) forest
We have no time to stand and stare ? (B) brush

No time to stand beneath the boughs AC) cleared

I D : ;
And stare as long as sheep or cows ? (D) furniture

‘ (E) Not attempted
No time to see, when woods we pass,

Where squirrels hide their nuts in grass ? | 84. Fill in the blank with appropriate

| preposition from the alternatives

No time to see, in broad daylight,

Streams full of stars, like skies at night ? given below it.

' They are planning to go for a stroll

No time to turn at Beauty’s glance,
the river bank.

And watch her feet, how they can dance ? |

(A) along
' ait ti th c:
No time to wait till her mouth can | {B) through
Enrich that smile her eyes began ? -#;;f _ (C) on
:'I':.;' 7’
A poor life this if, full of care, = '-’-.{El | (D) about

(E) Not attempted

We have no time to stand and stare.

-20-
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85. Which among the fnllnwing thnnp
the maxims nftcnchinf; P MO ‘

lo
(A) Proceed from simple ¢ complex
(B) Proceed from particular 1o

general
(C) Proceed from whole to parts
(D) All of the above

(E) Not attempted

86. Choose the alternative which best

expresses the given sentence in direct/

indirect speech.
Anmol said to her, “Don't read so

fast”.
(A) Anmol told her not to read so

fast.
(B) Anmol advised her not to read so

fast.
4{C) Anmol requested her not to read

so fast.
(D) Anmol ordered her not to read so

fast.
(E) Not attempted |

87. Students with speech defects may

Need more time 10 orally answer

(A)
questions |
(B) Use assistive technology to better
communicalc
(C) Also be at risk for being targeted
by bullies ﬁ-’-‘f{!]
AD) All of these _ 5\ 7

(E) Not attempted

-21-
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88. In Extensive reacling

(A) The aim is only to grasp the
meaning of what is reael
a:zfw) (B) The help of the teacher is
:i-gu
[=]"[=]

maxiumuirm

(C) Words, phrases and expressions
are not studied in detail

AD) Both (A) and (C) are correct

() Not attempted

89. Mecasures to improve handwriting i1s
(A) Using the transcription notebook
(B) Model writing on paper may be
displayed on flannel board
(C) Use of over handwriting slips
-(D) All of the above
(E) Not attempted

90. Choose the appropriate active/ passive

form of the following sentence [rom

the alternatives given below It
Piyush's pocket has been picked.
(A) They have Pivush's pocket

picked.

(B) Picking has been done to Piyush’

pocket.

|

(C) Picked has been Piyush's pocket.

(D) Someone has picked Piyush's
pocket,

() Not attempted
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- wﬁmaﬂﬁ‘lmﬁ'“f )
91. ﬁqfaﬁﬁﬁamﬁﬁﬁ@aamﬂq-m%? 5 ﬁqwmﬁﬁﬁ%l’aﬂwﬁwﬂﬁm'
i - s - aﬁﬁﬁa'm']l
(A) T% i 3nft TR S E | Eﬂﬁwﬁmmmﬁwﬁ,m
(B) T3 F Infi aT=r A2 < s
3 | F41 Iz frg % AR @ B e
,(r:.)géanﬁww% ?ﬁ.%#%mﬂ%ﬁmm?
(D) # 3t Frem S E | e Tl A WA T AR |
Wﬁﬁ:m ‘ﬁﬂ iyl 2
(E) S I el 2-2 g e w0, Fd S AN
L o i i AT E, arsfé @, 4 @St |
92 aﬁmﬁq&mﬁﬁ#ﬂ,ﬁ,ﬁﬂml " A @ ya i@ a , safa g gH
- i | ;
T % e TR FE FEE TATs, A B T |
_(a) fard (B) 37574 g T, wife wu= i =i, 2 U |
D) HHH Fsier feraeht 99 @Il 2 7
(C) Wd (D) % B) TR
E) 3TganfHd Sk Y
‘ (C) TAAEA _(D)
10 F o TR & & 7 (E) Sl
93 Fa 3 | 97. = WE &1 URY fohEh G100 g3 AT 7
48 HE = A) e (B) WUl
(C) TF (D) HTE _(C) wrfurt (D) FIfeigE
(E) 3rwanfad (E) 3Tt
08. fat =afFq, a&q I & & ATH @l 40
04. ‘X & YA Fpg Fiferr AT W E@T & 7 FEd 8 7 _
(A) HEA™ ~+B) H:1
(A) gt | () Feadrao (D)
_(B) Sd@ e (E) 3mwaifHa
(C) ufae e 99. T fire W F &4 2 7
- - (A) 7 (B) 8
(D) 379 | s Tal JC) 3 (D) ITFH °H FE T
(E) 3rwanfaa (E) 3Twanfaa
. . ‘ 100. Wegl & 3nfe | et Ik 3 | fagnga
95. ‘@l B U Fiel fhaH gramd Bl # 7 @M A 3Tk 3 w1 Hder "Geed ¢ a9
W Vi 1 8 7
.(A) 24 B [ V!
(A) (B) 12 gfff (A) f Jrp—
e D) 13 EEE (o) af (D) HHTH
(E) 3wafaa (E) 3mwanfad
22.
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